Leaves Knitting Pattern

Chart
e === T=0=T1 HI=IEL 11 —a—0—0—0—
—O—m—a—=a—=N0 ON—/0 O/ —o—— =[]
=101 =101 {O 6|_}6 D}——IDI—IDI—
St e i P AR e
—o—0—0— O ON—/0 O/ ———a—n—a—u—
o |— [ — [T — [ —{ = R I ——a—n—a—m—
= O=[0=0—=0 -~ o mrde] Vs = === O=[=]s
il e li=ilel === T =F=== T =1 0T =
— O — —OMNO[1ION—/010A£0 ——mﬁ%-gﬁu-r
: R —a—g— == == ——a—-0—=0-0-
—|0—0—0—0 O/ 1TNO=1—-[1—0/ O———ga—o—o—0—:
o === (=[] Prrerr=nhnn—-—-—-a-a-a-ga-
—jog—0o—0—0 OAMONO =1 O70A O——a—g—g—-n—:
21O =[O 1[I L =[] IN=E=lel=lel=
= —OMA—I0/01 ATONO=0/01 A1ONO—NEO— =

Cast on 37 stitches + 2 selv sts and work according to chart.

RS rows and WS rows are shown.

Read RS rows from right to left, WS rows from left to right.

Work the sts as they are shown with RS of work facing.

Row 1 (rs): p1, k3tog, ns, yo, p1, yo, ns, k3tog_tbl, p1, yo, ssk, yo, k1, cdd, k1, yo, k2tog, yo, p1, yo,
ssk, yo, k1, cdd, k1, yo, k2tog, yo, p1, k3tog, ns, yo, p1, yo, ns, k3tog_tbl, p1

Row 2 (ws): k1, p1, yo, p1, k1, p1, yo, p1, k2, p8, k1, p8, k2, p1, yo, p1, k1, p1, yo, p1, k1

Row 3 (rs): p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p2, yo, ssk, yo, cdd, yo, k2tog, yo, k1, p1, k1,
yo, ssk, yo, cdd, yo, k2tog, yo, p2, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1

Row 4 (ws): k1, p1 tbl, k1, p1 tbl, k1, p1 tbl, k1, p1 tbl, k3, p7, k1, p7, k3, p1 tbl, k1, p1 tbl, k1, p1 tbl,
k1, p1 tbl, k1

Row 5 (rs): p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p3, yo, ssk, k1, k2tog, yo, p1, k1, p1, k1, p1,
yo, ssk, k1, k2tog, yo, p3, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1

Row 6 (ws): k1, p1 tbl, k1, p1 tbl, k1, p1 tbl, k1, p1 tbl, k4, p4, k1, p1, k1, p1, k1, p4, k4, p1 tbl, k1, p1
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tbl, k1, p1 tbl, k1, p1 tbl, k1

Row 7 (rs): p1, k3tog, ns, yo, p1, yo, ns, k3tog_tbl, p4, yo, k3tog, yo, k1, yo, k2tog, p1, ssk, yo, k1,
yo, k3tog_tbl, yo, p4, k3tog, ns, yo, p1, yo, ns, k3tog_tbl, p1

Row 8 (ws): k1, p1, yo, p1, k1, p1, yo, p1, k5, p5, k1, p5, k5, p1, yo, p1, k1, p1, yo, p1, k1

Row 9 (rs): p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p4, k2tog, yo, k2, yo, k2tog, p1, ssk, yo, k2, yo,
ssk, p4, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1

Row 10 (ws): k1, p1 tbl, k1, p1 tbl, k1, p1 tbl, k1, p1 tbl, k4, p6, k1, p6, k4, p1 tbl, k1, p1 tbl, k1, p1 tbl,
k1, p1 tbl, k1

Row 11 (rs): p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p3, k2tog, yo, k3, yo, k2tog, p1, ssk, yo, k3,
yo, ssk, p3, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1

Row 12 (ws): k1, p1 tbl, k1, p1 tbl, k1, p1 tbl, k1, p1 tbl, k3, p7, k1, p7, k3, p1 tbl, k1, p1 tbl, k1, p1 tbl,
k1, p1 tbl, k1

Row 13 (rs): p1, k3tog, ns, yo, p1, yo, ns, k3tog_tbl, p2, k2tog, yo, k4, yo, k2tog, p1, ssk, yo, k4, yo,
ssk, p2, k3tog, ns, yo, p1, yo, ns, k3tog_tbl, p1

Row 14 (ws): k1, p1, yo, p1, k1, p1, yo, p1, k2, p8, k1, p8, k2, p1, yo, p1, k1, p1, yo, p1, k1

Row 15 (rs): p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1, k2tog, yo, k5, yo, k2tog, p1, ssk, yo, k5,
yo, ssk, p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1, k1 tbl, p1

Row 16 (ws): k1, p1 tbl, k1, p1 tbl, k1, p1 tbl, k1, p1 tbl, k1, p9, k1, p9, k1, p1 tbl, k1, p1 tbl, k1, p1 tbl,
k1, p1 tbl, k1

Key
N entral Double Decrease % knit: 3 together tbl
cdd k3tog_thl
(R5) slip 2 sks, knit 1, pass 2 slip sts over (RS slip 1 st, k2tog, pass slipped stitch over
(WS slip 2 sts bogether, purl next st, pass 2 slip stitches ("W's) slip 1 sk, kZtog, pass slipped stitch over
over
. Mo Stitch
I kit ns
k (RS} Mo Stikch
(RS Knit (%) Mo Stitch
WS Purl
p— T
E K1 thl B
k1 thl (RS} Purl
{RS) K1 tbl {(WS) Knit
(S) P1 bl
\ Slip Slip Krit
/ knit 2 Together ssk,
kztog (RS} slip, slip, knit slipped sts together
(R3) Knit 2 skitches together (W' slip, slip, purl slipped sts together
(W3 Purl 2 Together
.I Yarn Qwver
,K knit 3 Together )
katog {R.3) Yarn Over
(RS Knit 3 stitches together (WS Yarn Over
('WS) Purl 3 Together
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